> fI := x-Heaviside(x); f2 := xz-HeaViside(x)
f1 == x Heaviside(x)

i 2= 'S Heaviside (x) 0))
[ > plot([ f1,/2],x=-2..2, color = [ 'red','blue'])
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> f3 = Heaviside(x + 1) — Heaviside(x — 1); 4 := (Heaviside(x + 1) — Heaviside(x — 1)) x
/3 = Heaviside(x + 1) — Heaviside(x — 1)
2

f4 == (Heaviside(x + 1) — Heaviside(x — 1)) x
[ > plot([ f3,f4],x=-2..2, color = [ 'red','blue'])
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> f5 = sin(Heaviside(x)); f6 := Heaviside(sin(x)); f7 := f6-sin(x);
f5 := sin(Heaviside(x) )
f6 := Heaviside(sin(x))
i f7 := Heaviside(sin(x)) sin(x) A3)
> plot([ 15, 16, f7],x=-4-P1..4-Pi, color = | 'red','blue','green'])
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For Q2 I build the function out of what I know from Q1.
> fpcl = (x + 1)-Heaviside(x + 1); plot( fpcl,x=-3.3)
fpcl == (x+ 1) Heaviside(x + 1)
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> Jfpclb = (x+ 1)-(Heaviside(x + 1) — Heaviside(x) ); plot( fpclb, x=-3 ..3)
fpclb == (x + 1) (Heaviside(x + 1) — Heaviside(x))




> Jfpc2 == (1 —x)-(Heaviside(x) — Heaviside(x — 1) ); plot( fpc2,x=-3..3)
fpc2 == (1 — x) (Heaviside(x) — Heaviside(x — 1))
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=> firvl == fpclb + fpc2; plot( firyl,x=-3.3)
firyl == (x + 1) (Heaviside(x + 1) — Heaviside(x)) + (1 — x) (Heaviside(x) — Heaviside(x

— 1))




=> flfinal == 5-( fpclb + fpc2); plot( flfinal,x=-3..3)
flfinal := 5 (x + 1) (Heaviside(x + 1) — Heaviside(x)) + 5 (1 — x) (Heaviside(x)

— Heaviside(x — 1))




[ > f2final := sum (Heaviside(x — n), n=10..10)
f2final := Heaviside(x) + Heaviside(x — 1) + Heaviside(x — 2) + Heaviside(x — 3) “)

+ Heaviside(x — 4) + Heaviside(x — 5) + Heaviside(x — 6) + Heaviside(x — 7)
+ Heaviside(x — 8) + Heaviside(x — 9) + Heaviside(x — 10)
> plot( f2final,x=0..10)







